Bid Contact Yaniel Quinones Diez unlimitedcleaning.fl@gmail.com Ph 786-585-0862			Add	12	
ltem #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Doo
ITB 2023-07101-01	Group A: Area 1: Atlantic Avenue from W. 12th Avenue to Swinton Avenue		First Offer - \$0.10	8000 / linear foot	\$800.00 Y
ITB 2023-07101-02	Group A: Area 2: Atlantic Avenue from Swinton to E. 6th Avenue	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	4000 / linear foot	\$400.00
ITB 2023-07101-03	Group A: Area 3: Atlantic Avenue from E. 6th Avenue to A1A	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	5800 / linear foot	\$580.00
ITB 2023-07101-04	Group A: Area 4: N.W. 5th Avenue to N.W. 2nd Street	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	2600 / linear foot	\$260.00

City of Delray Beach

		City	of Dellay Deach		110 2023-
ITB 2023-07101-05	Group A: Area 5: S.W. 5th Avenue to 1st Street	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	1320 / linear foot	\$132.00
ITB 2023-07101-06	Group A: Area 6: N.E. 2nd Avenue to N.E.4th Street	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	5440 / linear foot	\$544.00
ITB 2023-07101-07	Group A: Area 7: N.E. 4th Avenue to N.E. 2nd Street	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	2660 / linear foot	\$266.00
ITB 2023-07101-08	Group A: Area 8: S.E. 2nd Avenue to S.E. 1st Street	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	1250 / linear foot	\$125.00
ITB 2023-07101-09	Group A: Area 9: N.E. 5th Avenue to N.E. 1st Street	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.10	1244 / linear foot	\$124.40

ITB 2023-07101-10	Group A: Area 10: S.E. 5th Avenue to S.E. 1st Street	Supplier Product Code:	First Offer - \$0.10	1250 / linear foot	\$125.00
		Supplier Notes: Price Per service			
ITB 2023-07101-11	Group A: Area 11: N.E. 6TH Avenue to N.E. 1st Street		First Offer - \$0.10	1244 / linear foot	\$124.40
		Supplier Notes: Price Per service			
ITB 2023-07101-12	Group A: Area 12: S.E. 6th Avenue to S.E. 1st Street	Supplier Product Code:	First Offer - \$0.10	1250 / linear foot	\$125.00
		Supplier Notes: Price Per service			
ITB 2023-07101-13	Group A: Area 13: Libby Wesley Park (5	Supplier Product	First Offer - \$0.10	9373 / square foot	\$937.30
	S.W. 5th Avenue)	Code:			
		Code: Supplier Notes: Price Per service			
ITB 2023-07101-14	S.W. 5th Avenue)	Supplier Notes: Price Per	First Offer - \$0.10	11644 / square foot	\$1,164.40

Attch. Docs

p. 6

Lot Total

Qty/Unit

Unit Price

\$5,707.50

Notes:

ltem #

Line Item

Price Per service

Notes

ITB 2023-07102-01	Group B: Area 1: A- Delray Beach B Shelters	US	Code:		First Offer	\$45.00	69 / each	\$3,105.00	
			Supplier Not Price Per serv unit						
1						01-1/11-2	Lot Total	\$3,105.00	
ltem #	Line Item	Notes			Unit Price	Qty/Un			Attch.
ITB 2023-07103-01	Group C: Station 111	Supplie Code:	r Product	First Of	fer - \$0.12	40000 /	square foot	\$4,800.00	
			r Notes: r service						
ITB 2023-07103-02	Group C: Station	Supplie	r Product	First Of	fer - \$0.12	12000 /	square foot	\$1,440.00	
	112		r Notes: r service						
ITB 2023-07103-03	Group C: Station 113	Supplie Code:	r Product	First Of	fer - \$0.12	2750 / s	quare foot	\$330.00	
			r Notes: r service						
ITB 2023-07103-04	Group C: Station 114	Supplie Code:	r Product	First Of	fer - \$0.12	30000 /	square foot	\$3,600.00	
		Supplie	r Notes: r service						
2024		Price Pe	r service	BidSync					

ITB 2023-07103-05	Group C: Statio	on Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.12	25000 / square foot	\$3,000.00	
ITB 2023-07103-06	Group C: Ocea Rescue HQ	an Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.12	4800 / square foot	\$576.00	
					\$13,746.00	
Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
ITB 2023-071-04-01	Medians	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.12	42152 / square foot	\$5,058.24	
ITB 2023-071-04-02	Medians	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.12	30152 / square foot	\$3,618.24	
ITB 2023-071-04-03	Medians	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.12	62152 / square foot	\$7,458.24	
ITB 2023-071-04-04	Medians	Supplier Product Code: Supplier Notes: Price Per service	First Offer - \$0.12	84152 / square foot	\$10,098.24	

City of Delray Beach

ITB 2023-071-04-05	Group D: Medians	Supplier Product Code:	First Offer - \$0.12	6152 / square foot	\$738.24
		Supplier Notes: Price Per service			
ITB 2023-071-04-06	Group D: Medians	Supplier Product Code:	First Offer - \$0.12	5100 / square foot	\$612.00
		Supplier Notes: Price per Service			

Lot Total **\$27,583.20**

Supplier Total \$50,141.70